5. Exploded Views and Parts List

5-1 Indoor Unit

Samsung Electronics

5-1



Exploded Views and Parts List

M Parts List
Q'TY
No. Code No. Description Specification SA/SNA
AQV09AWBN
1 DB94-01555A ASSY-BODY BACK ASSY 1 SA
1-1 DB61-03295A BODY BACK HIPS 1 SA
1-2 DB62-05141A SEAL-INSUL BODY REAR EPS(30) 1 SA
1-3 DB63-01812A COVER-MPI HIPS 1 SA
1-4 DB93-042308B ASSY-COMPACT MPI ASSY 1 SA
2 DB92-01124G ASSY GRILLE ASSY 1 SA
2-1 DB64-01872C GRILLE-AIR INLET ABS 1 SA
2-2 DB64-01867D GRILLE-DOOR ABS 1 SA
3 DB92-01125A ASSY PANEL FRONT ASSY 1 SA
3-1 DB64-01866A PANEL FRONT HIPS 1 SA
3-2 DB63-01826A FILTER-PRE PP 2 SA
3-3 DB92-01122A ASSY-RACK GRILLE LF ASSY 1 SA
3-4 DB92-01123A ASSY-RACK GRILLE RH ASSY 1 SA
3-4-1 DB31-00368B MOTOR STEP DC12V,3500gf.cm 1 SA
3-5 DB66-01256A SHAFT-PINION STS304 1 SNA
36 DB64-01873A WINDOW-DISPLAY PMMA 1 SNA
37 DB64-01876A BUTTON-POWER PMMA 1 SNA
3-8 DB93-05779A ASSY DISPLAY ASSY 1 SNA
39 DB93-05778A ASSY DISPLAY-MPI ASSY 1 SNA
4 DB63-01825C COVER-TERMINAL HIPS(V0) 1 SA
5 DB67-00849A CAP-SCREW HIPS 2 SA
6 DB93-08377A ASSY CONTROL IN ASSY 1 SA
7 DB63-01850A COVER-PBA SGCC-M 1 SA
8 DB94-01557A ASSY TRAY DRAIN ASSY 1 SA
8-1 DB63-01849A TRAY DRAIN ABS 1 SA
8-2 DB63-01837A TRAY-STABILIZER ABS 1 SA
8-3 DB61-03332A BLADE-H ABS 1 SA
8-4 DB61-01636A BLADE-V PP 2 SA
8-5 DB73-00180A RUBBER-CAP DRAIN GUM-EPM 1 SNA
8-6 DB94-00458B ASSY DRAIN-HOSE ASSY 1 SA
8-7 DB31-00371A MOTOR STEP DC12V, 600gf.cm 1 SA
8-8 DB62-05155A SEAL-INSUL TRAY FR EPS(30) 1 SNA
89 DB69-00839A CUSHION-TRAY RH EPS(30) 1 SNA
9 DB96-08235A ASSY EVAP-TOTAL ASSY 1 SA
10 DB61-03333A HOLDER-EVAP HIPS 1 SA
11 DB31-00474A MOTOR FAN 0.3A,50/60fz,35W, 220/ 1 SA
240V,1350rpm
12 DB94-004558 ASSY BEARING-RUBBER ASSY 1 SA
13 DB94-01556A ASSY-CROSS FAN ASSY 1 SA
14 DB61-03296A HOLDER-PIPE HIPS 1 SA
15 DB70-00819A PLATE-HANGER SGCC-M 1 SA
Samsung Electronics 5-2



Exploded Views and Parts List

M Parts List
Q'TY
No. Code No. Description Specification SA/SNA
AQV12AWBN
1 DB94-01555A ASSY-BODY BACK ASSY 1 SA
1-1 DB61-03295A BODY BACK HIPS 1 SNA
1-2 DB62-05141A SEAL-INSUL BODY REAR EPS(30) 1 SNA
1-3 DB63-01812A COVER-MPI HIPS 1 SA
1-4 DB93-042308B ASSY-COMPACT MPI ASSY 1 SA
2 DB92-01124G ASSY GRILLE ASSY 1 SA
2-1 DB64-01872C GRILLE-AIR INLET ABS 1 SA
2-2 DB64-01867D GRILLE-DOOR ABS 1 SA
3 DB92-01125A ASSY PANEL FRONT ASSY 1 SA
3-1 DB64-01866A PANEL FRONT HIPS 1 SNA
3-2 DB63-01826A FILTER-PRE PP 2 SA
3-3 DB92-01122A ASSY-RACK GRILLE LF ASSY 1 SA
3-4 DB92-01123A ASSY-RACK GRILLE RH ASSY 1 SA
3-4-1 DB31-00368B MOTOR STEP DC12V,3500gf.cm 1 SNA
3-5 DB66-01256A SHAFT-PINION STS304 1 SNA
36 DB64-01873A WINDOW-DISPLAY PMMA 1 SNA
37 DB64-01876A BUTTON-POWER PMMA 1 SNA
3-8 DB93-05779A ASSY DISPLAY ASSY 1 SNA
39 DB93-05778A ASSY DISPLAY-MPI ASSY 1 SNA
4 DB63-01825C COVER-TERMINAL HIPS(V0) 1 SA
5 DB67-00849A CAP-SCREW HIPS 2 SA
6 DB93-08377A | ASSY CONTROL IN ASSY 1 SA
7 DB63-01850A COVER-PBA SGCC-M 1 SA
8 DB94-01557A ASSY TRAY DRAIN ASSY 1 SA
8-1 DB63-01849A TRAY DRAIN ABS 1 SNA
8-2 DB63-01837A TRAY-STABILIZER ABS 1 SA
8-3 DB61-03332A BLADE-H ABS 1 SA
8-4 DB61-01636A BLADE-V PP 2 SA
8-5 DB73-00180A RUBBER-CAP DRAIN GUM-EPM 1 SNA
8-6 DB94-00458B ASSY DRAIN-HOSE ASSY 1 SA
87 DB31-00371A MOTOR STEP DC12V, 600gf.cm 1 SA
8-8 DB62-05155A SEAL-INSUL TRAY FR EPS(30) 1 SNA
89 DB69-00839A CUSHION-TRAY RH EPS(30) 1 SNA
9 DB96-08235A ASSY EVAP-TOTAL ASSY 1 SA
10 DB61-03333A HOLDER-EVAP HIPS 1 SA
1 DB31-00474A MOTOR FAN 0:3A,50/60Kz 35W,220/ 1 SA
240V,1350rpm
12 DB94-004558B ASSY BEARING-RUBBER ASSY 1 SA
13 DB94-01556A ASSY-CROSS FAN ASSY 1 SA
14 DB61-03296A HOLDER-PIPE HIPS 1 SA
15 DB70-00819A PLATE-HANGER SGCC-M 1 SA
Samsung Electronics 5-3



5-2 Outdoor Unit

Samsung Electronics

5-4



Exploded Views and Parts List

M Parts List
No. Code No. Description Specification QY SA/SNA
AQV09AWBX

1 DB90-01711Q ASSY CABI FRONT ASSY 1 SA
2 DB94-02118A GUARD FAN PP 1 SA
3 DB90-01681F ASSY BASE OUT ASSY 1 SA
4 DB61-02068B BRACKET-VALVE PSECC-P,T1.6 1 SA
5 DB31-00431A MOTOR FAN-BLDC BLDC,8P,25W,710RPM,E CLASS 1 SA
6 DB67-00397A FAN-PROPELLER AS+GF20%,D400 1 SA
7 DB60-00150A SCREW-HEX M4,L10 4 SA
8 DB60-30004A SCREW-MACHINE M6,ZPC(WHT) 1 SA
9 DB61-01644A BRACKET MOTOR SGCC-M 1 SA
10 DB97-02225G ASSY-SUPPORT PLATE B/M ASSY 1 SA
1 DB94-01655B ASSY-PARTITION ASSY 1 SA
12 DB27-00041A COIL CHOKE-REACTOR 5mH,10%,-,120mOHM,10A 1 SA
13 DB96-08373A ASSY COND ASSY 1 SA
14 DB64-02118A SCREEN-COND BAR HSWR 1 SA
15 DB90-02876C ASSY CABINET-SIDE RH ASSY 1 SA
16 DB90-03818F ASSY-COVER VALVE ASSY 1 SA
17 DB90-01713E ASSY-CABI SIDE LF ASSY 1 SA

17-1 DB64-00982A CABINET-SIDE LF SECC-P 1 SA

17-2 DB64-00992A HANDLE-LF PP 1 SA
18 G4CO090LUDER COMPRESSOR ROTARY 1 SA
19 6021-001142 NUT-HEXAGON FLANGE M5,ZPC(YEL) 1 SA
20 DB60-30028A SCREW-HEX M8,ZPC(WHT) 3 SA
21 DB99-01032A GROMMET ISOLATOR 44ANR35 3 SA
22 DB63-02310A COVER TERMINAL NORYL 1 SA
23 DB63-00817A GASKET EPDM RUBBER 1 SA
24 DB63-01958A FELT-COMP BOTTOM FELT+PVC 1 SA
25 DB63-01647A FELT-COMP SIDE FELT+PVC 1 SA
26 DB63-01934A FELT-COMP SIDE OUT FELT+PVC 1 SA
27 DB63-02034A FELT-COMP UPPER FELT+PVC 1 SA
28 DB63-01710B FELT-COMP UPPER FELT+PVC 1 SA
29 DB96-08389B ASSY-VALVE 4WAY ASSY 1 SA

29-1 DB33-00002C SOLENOID-ASSY ASSY 1 SA
30 DB96-08390A ASSY-VALVE EEV ASSY 1 SA

30-1 DB62-03916A VALVE-EXPANSION BODY FUJIKOKIX1.4 1 SNA

30-2 DB62-03964A VALVE EXPAN-COIL FUJIKOKIX1.4 1 SNA
31 DB93-08395C ASSY CONTROL OUT ASSY 1 SA

Samsung Electronics 5-5



Exploded Views and Parts List

M Parts List
No. Code No. Description Specification QY SA/SNA
AQV12AWBX
1 DB90-01711Q ASSY CABI FRONT ASSY 1 SA
2 DB94-02118A GUARD FAN PP 1 SA
3 DB90-01681F ASSY BASE OUT ASSY 1 SA
4 DB61-02068B BRACKET-VALVE PSECC-P,T1.6 1 SA
5 DB31-00431A MOTOR FAN-BLDC BLDC,8P,25W,710RPM,E CLASS 1 SA
6 DB67-00397A FAN-PROPELLER AS+GF20%,D400 1 SA
7 DB60-00150A SCREW-HEX M4,L10 4 SA
8 DB60-30004A SCREW-MACHINE M6,ZPC(WHT) 1 SA
9 DB61-01644A BRACKET MOTOR SGCC-M 1 SA
10 DB97-02225G ASSY-SUPPORT PLATE B/M ASSY 1 SA
1 DB94-01655B ASSY-PARTITION ASSY 1 SA
12 DB27-00041A COIL CHOKE-REACTOR 5mH,10%,-,120mOHM,10A 1 SA
13 DB96-08373A ASSY COND ASSY 1 SA
14 DB64-02118A SCREEN-COND BAR HSWR 1 SA
15 DB90-02876C ASSY CABINET-SIDE RH ASSY 1 SA
16 DB90-03818A ASSY-COVER VALVE ASSY 1 SA
17 DB90-01713E ASSY-CABI SIDE LF ASSY 1 SA
17-1 DB64-00982A CABINET-SIDE LF SECC-P 1 SA
17-2 DB64-00992A HANDLE-LF PP 1 SA
18 G4CO090LUDER COMPRESSOR ROTARY 1 SA
19 6021-001142 NUT-HEXAGON FLANGE M5,ZPC(YEL) 1 SA
20 DB60-30028A SCREW-HEX M8,ZPC(WHT) 3 SA
21 DB99-01032A GROMMET ISOLATOR 44ANR35 3 SA
22 DB63-02310A COVER TERMINAL NORYL 1 SA
23 DB63-00817A GASKET EPDM RUBBER 1 SA
24 DB63-01958A FELT-COMP BOTTOM FELT+PVC 1 SA
25 DB63-01647A FELT-COMP SIDE FELT+PVC 1 SA
26 DB63-01934A FELT-COMP SIDE OUT FELT+PVC 1 SA
27 DB63-02034A FELT-COMP UPPER FELT+PVC 1 SA
28 DB63-01710B FELT-COMP UPPER FELT+PVC 1 SA
29 DB96-08389B ASSY-VALVE 4WAY ASSY 1 SA
29-1 DB33-00002C SOLENOID-ASSY ASSY 1 SA
30 DB96-08390A ASSY-VALVE EEV ASSY 1 SA
30-1 DB62-03916A VALVE-EXPANSION BODY FUJIKOKIX1.4 1 SNA
30-2 DB62-03964A VALVE EXPAN-COIL FUJIKOKIX1.4 1 SNA
31 DB93-08395D ASSY CONTROL OUT ASSY 1 SA
Samsung Electronics 5-6



5-3 ASSY CONTROL IN DB93-08377A

. £y 3
ol e ]
Wiy L :j 7

CROXC,

DB93-08377A PARTLIST

NO CODE NO. DESC_SPEC PARA1 PARA2 QTY
1 DB61-03343C CASE CONTROL IN MONTBLANC1 ABS
2 DB65-00181B TERMINAL BLOCKIN(1),1,2] 9K/12K INV
3 DB93-08383A ASSY-PCBIN 9K/12K INV
4 DB93-08404A ASSY MODULE PCB
5 DB61-01097A HOLDER - WIRE CLAMP SGCC-M T1.2
6 DB91-00309A SCREW PH M3*L22
7 DB97-02418A SCREW TH M4*L10
8 DB91-00434A ASSY-POWER CORD ASSY POWER CORD 3WIRE
9 DB95-01990C ASSY THERMISTOR 4P
10 DB93-04484A ASSY C/W AUTOGRILL 5P
11 DB93-04688A ASSY C/W LOUVER 5P
12 DB93-08572A ASSY C/W -T/B(1) 1P
13 DB93-05729A ASSY C/W MODULE 4p 280mm
14 DB93-05657A ASSY C/W MIAN TO DISPLAY 9P
Samsung Electronocs 5-7






